gt || Equations with Unknowns on Both Sides
Fmva  REVISE THIS
IS Tt

1 Solve 6x+10=2x+18

(b1 = Ao H1%

X=2 9.
X =
(Total for Question 1 is 3 marks)

~1y ( 53+S:23+ZO;)_
1 2
%'.SC 33“ D""j

.5
$ .5

(Total for Question 2 is 3 marks)

3 Solve 7Tw—1=4w+20

~4w ( Fw - '=’+\,\)-|-ZOJ_W
+ C?)W"\ = 10 D+|
4'5('.3\0 = Xl D%’S
w= +

w= ‘
(Total for Question 3 is 3 marks)
1

u . r@ @1stclassmaths

www.1stclassmaths.com © 2024 1stclassmaths



http://www.1stclassmaths.com/

n ’ r@ @1stclassmaths

4 Solve 9a—-4=5a+32

50 ( da- b4 = Sa+ 31 3-5a
iy CL\'q -4 =12 ) +
ba =6 9

a=

(Total for Question 4 is 3 marks)

5 Solve 4b-3=3b+27

-3b ( %-1-‘- b+ 13 - %
4'3C b-3 = & .)+3
b:=30
=00

(Total for Question 5 is 3 marks)

6 Solve 10c+1=3c+8

"Bcc \OC+|=1<:+% ;)-3c.
-\ C:}'C,-l" = % ;)_.‘
+ =3
- |

(Total for Question 6 is 3 marks)

7 Solve 5d+15=2d+9

24 ( Sd+15224 +9 )-2
-15(.36\-*\5“-(1 )-—ls
4 =-6

-~

(Total for Question 7 is 3 marks)
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8 Solve 59+17=3g+7

-3 (. g + 1} =3g + 1 )-14
_H_(; 28 + 13 = } D—\?
1y =10 - =5

(Total for Question 8 is 3 marks)

9 Solve 6h—-18=3h-3

W ( Q’\"'%: 3"\"3)-3b\
-\-\%C th-18=-3 ;)-r\‘&
Th =S
D

(Total for Question 9 is 3 marks)

10 Solve 5p-34=2p-4

—zp(; Sp-gl\'zl?-q-")-zf,
+3u(.3?_y* > )
3p =%D
. \O

(Total for Question 10 is 3 marks)

11 Solve 5k+20=8k-7

_gkC gk‘q‘ = '5|<+?,D ;)-SI&
H_C -3 =20 Dﬁ_
W -2

(Total for Question 11 is 3 marks)
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12 Solve 3r+30=7r+6

-;rC ?ch 6= ?;r +30 ;)—Zr
e ber + 6 = 30 ) -6
L = 2% = G

(Total for Question 12 is 3 marks)

13 Solve 2m-30=9m -2

2 ( Qm -7 =7m -30 )-2m
+LC Im -1 = -30 )1—2,
Im = -1% n

m=

(Total for Question 13 is 3 marks)

14 Solve 3n+4=24—-2n

an (0 Sn 4l = 2% -2 Yeom
._u((; SV\‘\-Ll' - ’U‘l' ;)—Q—

Sw =10
N o

(Total for Question 14 is 3 marks)

+Ltl;.(; l-\-{:—% —‘L|'0 ""\'t ;)N-b
+8C%'c -8 = %O Jrs
%6 = &%

- b

(Total for Question 15 is 3 marks)
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16 Solve x+7=5x-3

-x.C S.‘J’--g: x +7 ;)—x
_}3(; ex -3 = F ;)+3
Yx = 1O

X = 25

(Total for Question 16 is 3 marks)
17 Solve 4(y + 3)=2(y + 10)

oy (0 by 412 a0 o
e g 4 1 10 J-u
3 gy = %

.
18 Solve 5(a—-5)=2(a+1)

(Total for Question 17 is 3 marks)

-hC SG.")-S:’ZQ +?— ;)-Za
+25 ( 3a-15:=12 )-1s
3&12.?' ) q

(Total for Question 18 is 3 marks)
19 Solve 2(b+5)=7(b + 10)

-

4% +30 = 1balD R

0 ( Sb+30 =10
Sb = -60

-0

=~ 1L

(Total for Question 19 is 3 marks)
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